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Assessment Schedule – 2014 
Latin: Interpret adapted Latin text of medium complexity, demonstrating understanding 
(91195) 
Evidence Statement 

Question Sample Evidence Achievement Achievement  
with Merit 

Achievement  
with Excellence 

ONE     

(a) (i) Eumenes was the king of 
Pergamum. 

Correct response Correct response Correct response 

  
(ii) The friendship Eumenes 

had with the Romans 
meant he was growing 
strong and waging war 
fiercely by land and sea. 

OR 
Partially correct 
response. 

AND 
Partially correct 
response. 

AND 
Correct response. 

(b) Hannibal wanted to get rid of 
Eumenes: 
• because he thought it would 

help him. 

Partially correct 
response. 

Correct response.  

(c) Hannibal instructed his men: 
• to collect live poisonous 

snakes 

Correct response Correct response Correct response 

  
• and to throw them into clay 

pots. 

OR 
Partially correct 
response. 

AND 
Partially correct 
response. 

AND 
Correct response. 

(d) Hannibal’s intellect: 
• he was clever / innovative, 

because he formed a cunning 
plan – consilium callidum 
cepit 

Hannibal’s character: 
• he “thought out” what he was 

doing – Hannibal arbitrabatur 
(Other responses possible) 

ONE correct 
response. 

BOTH responses 
correct, with ONE 
Latin phrase. 

BOTH responses 
correct, with BOTH 
Latin phrases and 
English meanings. 

(e) (i) imperfect subjunctive Identifies tense OR 
mood. 

Identifies tense AND 
mood 

Identifies tense AND 
mood 

 (ii) It is: in a causal clause 
introduced by cum / in a 
cum clause when cum 
means “since”. 

 OR 
Correct response. 

AND 
Correct response. 

 

N1 N2 A3 A4 M5 M6 E7 E8 
Partially 
interprets 
particular 
points in the 
text, but does 
not 
demonstrate 
understanding. 

Interprets 
particular 
points in the 
text, but does 
not 
demonstrate 
understanding. 

Demonstrates 
understanding 
of THREE (of 
five) pieces of 
Achievement-
level evidence. 

Demonstrates 
understanding 
of FOUR (of 
five) pieces of 
Achievement-
level evidence. 

Demonstrates 
clear 
understanding 
of THREE (of 
five) pieces of 
Merit-level 
evidence. 

Demonstrates 
clear 
understanding 
of FOUR (of 
five) pieces of 
Merit-level 
evidence. 

Demonstrates 
thorough 
understanding 
of THREE (of 
four) pieces of 
Excellence-
level evidence. 

Demonstrates 
thorough 
understanding 
of FOUR (of 
four) pieces of 
Excellence-
level evidence. 

N0/  = No response; no relevant evidence.  
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Question Sample Evidence Achievement Achievement  
with Merit 

Achievement  
with Excellence 

TWO     

(a) Hannibal gave his final 
instructions: 
• when a great number of 

snakes had been collected 

Partially correct 
response. 

Correct response Correct response 

  
• on the very day of the naval 

battle. 

 AND 
Partially correct 
response. 

AND 
Correct response. 

(b) Hannibal’s two strategies: 
(1) The marines were to 

engage in combat with 
Eumenes’ ship alone. 

Correct response Correct response Correct response 

  
(2) The marines were only to 

defend themselves from the 
rest of the ships. 

OR 
Partially correct 
response. 

AND 
Partially correct 
response. 

AND 
Correct response. 

(c) The effect of the first strategy: 
• Eumenes could not withstand 

Hannibal’s onslaught 

Correct response Correct response Correct response 

  
• and he sought safety in flight. 

OR 
Partially correct 
response. 

AND 
Partially correct 
response. 

AND 
Correct response. 

(d) Eumenes’ strength as a naval 
commander: 
• he was confident / 

courageous 

Partially correct 
response. 

Correct response Correct response 

  
• proelium committere non 

dubitavit  – he did not hesitate 
to join battle. 

 AND 
(Partial) Latin phrase 
OR English 
meaning. 

AND 
Correct Latin phrase 
AND English 
meaning. 

(e) (i) Ablative singular Identifies case OR 
number. 

Identifies case AND 
number 

Identifies case AND 
number 

  
(ii) Ablative of time “when” 

 OR 
Correct response. 

AND 
Correct response. 

 

N1 N2 A3 A4 M5 M6 E7 E8 
Partially 
interprets 
particular 
points in the 
text, but does 
not 
demonstrate 
understanding. 

Interprets 
particular 
points in the 
text, but does 
not 
demonstrate 
understanding. 

Demonstrates 
understanding 
of THREE (of 
five) pieces of 
Achievement-
level evidence. 

Demonstrates 
understanding 
of FOUR (of 
five) pieces of 
Achievement-
level evidence. 

Demonstrates 
clear 
understanding 
of THREE (of 
five) pieces of 
Merit-level 
evidence. 

Demonstrates 
clear 
understanding 
of FOUR (of 
five) pieces of 
Merit-level 
evidence. 

Demonstrates 
thorough 
understanding 
of THREE (of 
five) pieces of 
Excellence-
level evidence. 

Demonstrates 
thorough 
understanding 
of FOUR (of 
five) pieces of 
Excellence-
level evidence. 

N0/  = No response; no relevant evidence.  
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Question Sample Evidence Achievement Achievement  
with Merit 

Achievement  
with Excellence 

THREE     

(a) acrius – more / rather fierce(ly) Correct Latin word Correct Latin word 
AND partial English 
meaning. 

Correct Latin word 
AND English 
meaning. 

(b) The sudden event that changed 
the course of the battle: 
• pots of snakes began to be 

thrown 

Correct response Correct response Correct response 

  
• at Eumenes’ ships. 

OR 
Correct response. 

AND 
Partially correct 
response. 

AND 
Correct response. 

(c) (i) Eumenes’ sailors were 
terrified – territi 

Correct Latin word 
AND English 
meaning. 

Correct Latin word 
AND English 
meaning 

Correct Latin word 
AND English 
meaning 

  
(ii) The sailors turned their 

boats around and retreated 
to their camp on the shore. 

 AND 
Partially correct 
response. 

AND 
Correct response. 

(d) Hannibal’s victory was 
remarkable because: 
• Eumenes had a lot more 

ships than Hannibal – multo 
maiores in numero. 

Partially correct 
response. 

Correct response, 
with (partial) Latin 
phrase OR English 
meaning. 

Correct response, 
with Latin phrase 
AND English 
meaning. 

(e) (i) present passive Identifies tense OR 
voice 

Identifies tense AND 
voice 

Identifies case AND 
number 

  
(ii) prolative infinitive / 

dependent on coepta sunt. 

 OR 
Correct response. 

AND 
Correct response. 

 

N1 N2 A3 A4 M5 M6 E7 E8 
Partially 
interprets 
particular 
points in the 
text, but does 
not 
demonstrate 
understanding. 

Interprets 
particular 
points in the 
text, but does 
not 
demonstrate 
understanding. 

Demonstrates 
understanding 
of THREE (of 
five) pieces of 
Achievement-
level evidence. 

Demonstrates 
understanding 
of FOUR (of 
five) pieces of 
Achievement-
level evidence. 

Demonstrates 
clear 
understanding 
of THREE (of 
five) pieces of 
Merit-level 
evidence. 

Demonstrates 
clear 
understanding 
of FOUR (of 
five) pieces of 
Merit-level 
evidence. 

Demonstrates 
thorough 
understanding 
of THREE (of 
five) pieces of 
Excellence-
level evidence. 

Demonstrates 
thorough 
understanding 
of FOUR (of 
five) pieces of 
Excellence-
level evidence. 

N0/  = No response; no relevant evidence. 

 
 
Cut Scores 

 Not Achieved Achievement Achievement  
with Merit 

Achievement  
with Excellence 

Score range 0 – 7 8 – 14 15 – 19 20 – 24 

 


